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Passage:

e R few 7w @ ugd IR TN UR & e Sfd Sk ard fawed! &1 999 Sifere-

St 59 <=1 | 3 3T &1 dsar-grrsd o € §, R Unyde a9 off 78 &1 waar ot A difedl iR Wt SR AT 3R H R Ie arell 3 Sifaat
¥ oI ve 9 o Wi FAaTeT Bis 9get a1d ol 2| YRday & B 3 3Fe THR F 3Fd SR I 3H 90T &I A B SR &t R W TF a1
IeI deT ) 2| TET U IR JHE S T U A 3me of 31

T8 § U B e ¥ 30 BT Sier AT uY ¥ 5 91a 7 i 72 SmeR-FeT g @uia Sud 31 a9 81 81 3, O oy IfvRd & aifeh e i ot Uy
I T §1 S T 7, G & GE-3:9@ & Ufd YAGT §, 9517, IU §, TN 81 I8 TS & WA & IaIad §e 13U 7 SRTS-TC Pl 30T 3Mee
TS AT, T B SR T¢ G aldl 3Mfadd! Bl §RT THIT § IR a5, FF SR TRR ¥ fbT U 3RAmeRol & Tad SHTeR0 AT 81 98 fosadt @ sifa ar
qul 1 gerd &1 o T 81 98 T A &1 o Bl

TETHRA H 3T T SR 3h1Y Y T qUI BT T 4o gl § | 3 S8 FRaR greiterar &1 ot fmmn mar 81 Maw 9 7 3l & o1 o1 & ags &
TSI I8 & T 9% 99 & §:9-J9 & YUl & 9y <l 81 I8 S1-Ffifa due € o o a9 s 71 o, 9w o srhluread o &1 Od
I T8 B 0 e giam § b o 7 oft gHRY 1191 ¥ I8 Ui B9 @ AT 3| Afch T ARG & T W AT g UT 3 WA SMSH! B USTSdl
B1 3R set § 5 Fa1 3u9 diel O & IR 9 B

Q.No: 1 ~ _
270‘;25750 Iad T & TR YOIdT: TG HYUF BT 90T BITE-

Taw g A 3i% & a1 41 % a3 &t agsaar gt @ {5 98 99 & §:9-g9@ 3 Wyl & 91y I@an g1 g8 nA-fAfifa dum &
WIS B AT I 8 |
Ma" g A 3% 8 we1 41 7% a0 3 agsaar 98} 8 7 98 99 & daa @ & Feyfa & 9y 3@ar 31 g8 snu-fAftfa dea &
WIS Y AT T2
Taw g A 3t & 1 41 f% 935 Y agsaar adt @ f5 98 99 & Faa g:@ B Gegyfd F a1y @Al 1 g8 -t sum &
WIS Y AT T 8
Taw g A 3% & 1 41 % 935 3t agsaar 9t @ f5 98 99 & §:9-g9@ 9 Wy & 9y TE @t 31 g5 arH-fAfifa dum
& 799 B A & 2
Correct Ans : A

A

D

Subject : Gen. Hindi (Hindi Lang PM 4 Question

Passage:

& R T U T Y gk IR TC U & e Id IR aret faded! o1 wue Fifve-

St 39 <= H 3 TS &1 dsdl-grrsdr o 3 €, R Unyde a9 off 78 &1 wdr o1 A difedl iR WeEt SR A 3R T b e arell 3 it
& o Ue 9 o Wie AaTeT Bis Fgel a1d ol &t URAaY & B! 7 3Hd THR I 3Hd SR I 39 G0 S Ao B SIRR i R} W TH &1
I5IH g BT f | TH Ul 3R JHET Wi BT Th JTH 3esf +ff Bl
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T8 § U B e 9 3o BT Sier A uY W 5 91a 7 i 72 SmeR-FaT gav @uia Sud i 99 81 81 3, O oy WIftRd & wifeh e bR ot Uy
A i €)1 SO TuH B, TR & GE-3:@ & Ul TaG 8, Hg1 ¢, 9U 8, AN 21 U WIS P W P Ieglad §u 1 3G A FTS-¢2 Bl (Ul e
TS AT, T T MR T¢ Gre aldl Mfadd! B §RT THIET § IR agd, T SR TRR Y fhT U SRImeRor & Tad SHTER0 AT 81 98 fosedt @y sifa ar
Ul a1 THE™ &7 4 6l 31 98 A 0 BT 4 g

TETHURA H ST T SR 3hYy Y T qUI T I 4 gl § | 3 S8 FRaR greiterar &t ot fmmn mar g1 Maw 9 7 3l & oa1 o1 o5 7 ot
Tl 981 ¢ % 98 99 & 3:0-g9 & Geufd & 1Y @ g1 78 ona-FAfifa due @ maw &) o 9T §1 g, I SR Spteed uH &1 g
I T8 B1 g 3= giam § b o # oft gHRY 41T ¥ I Ui B @ AT | Afh T ARG & T W AT T UT 3 WA SSH! B uSTSdl
Bl 3R amerft § i U1 IY gl o B HIR HY g

Q.No: 2

570525751 ST T ¥ UYAT T GE-3:W' F -9 W &2

A fo guma
B FHYRY 9
C g A
D Fgdife war

Correct Ans : C

Subject : Gen. Hindi (Hindi Lang PM 4 Question

Passage:

3= R fou U T &Y UgeR OB U R & Ia9 3fd IR ard faswedt &1 9 Fifn-

et 59 39 A sHw oS T dsdl-grrsdt o &t ¥, R tmyde a9 off 1€ B e ot A Wifedl iR WSt iR T 3R T IR Ie arelt 3 Sl
¥ oI Ue 9 o Wi FAaTerT Bis 9gel a1d ol 2| YRdaY & B! 7 3He THR § 3Hd SR I 39 0T S A & IR &t R} W TF a1
IR e D1 | TEd Uil SR YU St T U WA SeR oft gl

T8 § U B o 9 30 BT Sier A uY P aa H i 727 SeR-FeT gav W@uia Sud i a9 81 81 8, O oy WIftRd & wifeh e iR ot Uy
A €1 S U B, TR & GE-3:@ & Uld JaaT 8, Hg1 ¢, 9U 8, AN 21 U8 WIS P W P Ieglfad §uF 1 3UAY A FTS-¢R Y SOl e
TSt AT, T T SR T¢ Gre aldl SMfadd! B §RT TSI § SR a9, T 3R TRR ¥ fbT U 3RImRor & Tad $HTER0 AT 81 98 faedt @y sifa ar
Ul a1 THE™ &7 4 6l §1 98 A &1 4 g

TETHRA | ST T SR 3h1Y Y T qUI T I 4 Pel § | 30 S8 FRaR gr=iterar &t ot fmm man g1 Maw 9 7 3l & &gt o1 5 7 ot
TSI I8t & o5 9% 99 & §:9-99 & Gyl & 91y <l 81 I8 S1-Ffifa dee € s o 9 S 71 S, I o Srhlured o &1 Od
I T8 B1 g 3= giam § fob o # oft gHRY 41T ¥ I Ui Y I8 AT 3| Afch T ARG & S W AT g1 UT 3 WA SSH! B uSTSdl
B 3R set § 5 Fa1 3U9 diel O & IR B9 B

QNO: 3 SR TR 5 R A ) S ) & R T 0 3 G- ) e 3w e 21 9 et P 9 v 22

A HeTdR yaTg fgadt
B T 3RS

c AP T AT TA
D ad g

Correct Ans : D
Subject : Gen. Hindi (Hindi Lang PM 4 Question

Passage:

3= R fou U T &Y UgHR OB U R & Ia9 3fd IR ard fawedt & 9 Fifon-
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St 39 < | 3 oS 71 asdl-grrsdt of 3 €, R Tmyde a9 oft ¥ § 1 wgar &t A difedl W @t SR A SR W FRp g9 arelt 37 Sfaat
% fore T AR o @iet AeTe SIS geel a1d A8t At URday & B A 3FE TSR ¥ 3FE 3R I $H AW B JAH B SR &t 2 R Td 91
IR AeT Bt | TR quif SR TH SR BT U AT e oft g

T8 B S & e § o B ST A UR] § 59 ara # ST €2 oieR-FsT gav @uig Sud i a9 & € 7, ) oy WItRd 3 afhe @ bR off Uy
T §) S U B, QIR & GE-5:9 & Ul YAG B, 451§, IU §, TN §1 I8 TS & WA & Jaalad §e §| SHIIY Ags STS-TC Pl 30T e
T AT, TR H SffaR 96 qie- T Hfadd! B g1 JHA § SR I9, T SR IRR I fHT T SrIQmeRor &1 Ted SHTeR0 Al § | I8 foed @ S ar
qul 1 G &1 ¥ T 81 a8 HI A BT 4 71

TETHURA H ST I SR 3hlYy Y TS quif T I 4 FHgl § | 3 98 PR gF=itaar &1 frn w81 Maw 9 7 die 8 w1 o fos as 3
T U8 § % 9% 99 & §:0-gu &) TRy & 91 37T 71 98 - due @ 9w o 0w oI 81 g, I ok srpluass v &1 ga
I T8 B 1 O S giam § fob e 7 oft gt 1T ¥ I Ui B I§ AT | Afh T ARG & Fe W AT T UT 3 FdA SMSH! B uSTSdl
Bl R 3merht B b TaT S99 dleT aF & IR B B

Q.No: 4 19 fou T g # e A 9 g fovm e o1 v Y b man g2
2705257S3

SMER-FST AU WHIG IS 31 38 &1 § ¢, O 3=y MRl & Qife g e oft oy @ i §1

A R feg
B quifR™ =g
C Yo fa™ e
D SregfaR™ g

Correct Ans : A
Subject : Gen. Hindi (Hindi Lang PM 4 Question

Passage:

FIERT: P I UgaR UP TN YAl & Had Id IR ald f[adbed! HT F9+ Pifore-

g9 dl ofig-fdg 99 &b

MY 39 S8dl # I IRA €0 $S R !
HT M fbe T B HD! SART
H S I gHD! TH HI-H3Yd H TRART
sty g6 Sredr duF 7 fram of e

D faard! g9 FHT-dee 3 gRumA
et U1 MR fF IR §H IH F FR-IRP?
3T I g IS 9H FI 1Y 88 I 318
T UBT A U s BT € IS RIS

T 3 3FTEA F AV P ey o U1g
YT 3Tl YAUI-hIel Bl 19 X@-@f B
T B A U T BI I 3Tl TS

1 39 SFEd 3 AV BT @ g U
AT TS WAIUT-Td P 79 G- BT%

AT & AFT SA & SR0T 3N FoR &
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Q.No: 5 e B & SRiad Ukl ¥ T &1 A IaIst-

2705359S0

A HeTed! aut

B gdeid Burdt fArmen
C MUY Rig fAar
D Srapwr Ml 99

Correct Ans : D

Subject : Gen. Hindi (Hindi Lang PM 4 Question

Passage:

e I B Ugax U@ T U=Al & o Ifd IR a1l fabed! &1 997 Hiforg-

A @ oi-fig 99 &b

3T Y ofedl & 9 A ©U $S R B!
T 9 fHg 7 B gHD! Sar
I S I gHD! $H Ha-HUd H IR
STy g6 STsar s | feam af aramn

DI (Iaret g9 Far-se= S gRum
et o1 SfeT b IaR §H AH ¥ IR-IRP?
TS AT o9 IS o1 T 91y 28 Io 3
T UBt 3 U A $I I 31 RIS

T 3T SR A AT FI 3 A U
AT 3Tl TATUT-Hd BT 79 @-@f BT
T UBt A UE daA BT I IS RIS

I T SR A AT FI 3 A U
AT 3Tl TAUT-HId BT 9 @-@f B

AT & A S § FROT 3TN R B

270535051 T A SR 1 o0l &7

A sfafirg aeg siftfa & &

B & # 9R ST & fow UR g
C ford fmifaa =1 fvar mar 8

D g & g9 § s

Correct Ans : C

Subject : Gen. Hindi (Hindi Lang PM 4 Question
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Passage:

&R BT B UgdHR UP TU U & Ja I IR aTdl fadwed! 1 997 Sifere-

A d 9-fig 99 &b

3T 39 FSal # 9 R FI O R &!
1 9 fBg 7 B gHD! SAr
HT S Rl GHP! 39 HI-HIYSA H WA
STy g STsar s | fam of aramn

P RAdTS! gHE! FHI-5e7 < g
forgeT o1 Sf1eT fob IR §H A4 ¥ IR-IRb?
TS AT o IS o1 BT 91y 8 Io 318
T UBT A UE A ST I IS RIS

I T SR A AT FI 7 g U
AT 3Tl TRUT-Id I 9 @-@f B8
T UBT A UE daA BT € IS RIS

&1 39 3FTEd 3 S B e G TS
QT TS JAIUT-HTd 1 19 Ri@-ai BTs

AT & A S § FIROT 3T R B

Q.No: 7 . = ]
570535052 T H ¥ UAE’ B ¥ TR @Y 82

A gor Y
B 3rarfe e
C & =|fy
D o7 | fYr

Correct Ans : B

Subject : Gen. Hindi (Hindi Lang PM 4 Question

Passage:

=T BT B UgHR UP TU YR & I I IR aTdl fawed! 1 997 Sifere-

O @ 9-fog 99 &b

3T 3 el H IdT R FU S R P!
T S fBg 7 B gHD! Sar
HT A Rl gHP! 39 HI-HAIYA H WA
iy g6 STsar s | fam of aramn

P TSt He! FHI-5eT < gRumT
forgeT o1 Sf1eT fob IR §H AH ¥ FR-Rb?
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3Tel 9T 9 IS oI B A R I o
T UBH A U dAA BI I 31 RIS

T S SR A AV B eaf g a1
AT 3Tl TATUT-HId BT 19 @-@f BTS
T UBT A UE A BT I 31 RIS

T T SR A AT FI 7 g U
AT 3Tl TUT-HId BT 9 @-@f B

AT & A SIH § FROT 3T eR B

Q.No: 8 Iudad dfdadl & SuR Rad ®iF & gfif sifore-
2705359S3

3T 9T I IS W Bl fRd 3o o, 79 udt A diei B @ 3T TS |

A Y, 4@
B i, 4@
C 1Y, Y

@, g

Correct Ans : A
Subject : Gen. Hindi (Hindi Lang PM 4 Question

Q.No: 9 In the below question, consists of a set of labelled sentences. These sentences, when properly sequenced form a coherent
2677062 paragraph. Select the most logical order of sentences from among the options.

P. The global focus for optimal brain development is on the first 1,000 days of a person's life.
Q. In these areas, the formation of nerve connections peaks by the fourth month.

R. These 1,000 days are when rapid and dramatic changes take place in the brain and fundamental cognitive and
interpersonal skills are developed.

S. The centres for vision and hearing in the cerebrum develop between the second and fifth months of one's life.

A SRQP
B PRSQ
C PQRS
D QPSR

Correct Ans : B

Subject : Gen. English (English Lang 2)

Q.No: 10 1In the below question, four sentences are given, which when properly arranged, make up a paragraph. Rearrange the given
2677218 sentences, and choose the option that provides the correct final order.

P. This brought him to the year 1775, and the beginning of the war between England and her American colonies.
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Q. During his first two years in Virginia, Roger led a care-free life, dividing his time between studying and dispensing the
open-hearted hospitality of colonial days.

R. When fighting began, Roger offered his services, to Congress, and later in the year he was appointed senior lieutenant on
the Alfred.

S. The Alfred was the flagship of the pioneer squadron of our American navy.

A SQRP
B QPRS
c QSRP
D SPRQ

Correct Ans : B

Subject : Gen. English (English Lang 2)

(22.7'\:1361717 Select the correctly spelt word.
A inflammatian

B posturre

C credence

D harowwing

Correct Ans : C

Subject : Gen. English (English Lang 2)

Q.No: 12 1In the following question, four sentences are given, which when properly arranged, make up a paragraph. Rearrange the
2717998 given sentences and choose the option that provides the correct final order.

P. It was a Friday, so these were more numerous than usual.
Q. The accident, so fatal to all his profits, had restored my brother to his senses.
R. Seeing that the mischief had been caused by his own insufferable pride, he rent his clothes and tore his hair.

S. He lamented himself so loudly that the passers-by stopped to listen.

A SRQP
B RSQP
c PQSR
D QRSP

Correct Ans : D

Subject : Gen. English (English Lang 2)

Q.No: 13 The sentences in the paragraph have been jumbled. Rearrange the following sentences into a meaningful sequence.
2718024

A. Science and engineering are hard to imagine without mathematics.

B. Mathematics is an important part of modern society.

C. And even simple things such as calculating the cost of groceries involve mathematics.

D. So, it's not strange to stop and wonder what mathematics is.

A DCBA

B CDAB
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C BDCA
D BACD

Correct Ans : D

Subject : Gen. English (English Lang 2)

Q.No: 14 Some persons are standing in a queue. Arihant is standing at the thirty-third position from the end of the queue. When his
2703459 3nk is counted from the beginning of the queue, then he is standing at the nineteenth position. How many persons are
standing in the queue?

F¢ Afad Uh Ufda A TS 71 9iREa, ufd & oR I dfiud ®F R TeT 81 o9 IT@! 3@ Ufdd & Lo I - ot 8, af 98 Iad /A R
TeT 7l Y, Ui H fpan =afdy @e 82

41
A

41

51
B

51

53
C

53

50
D

50

Correct Ans : B
Subject : MATH

Q.No: 15 Product of three prime numbers is 3289. If 5 is subtracted from each of them, then their new product is __.
2703460

T st TRemeit HT UFTA 3289 Bl Afe 3AH I Ud® T A § 5 Ul fon ST B, @ 3T T4 [UHmd g

864
A

864

2304
B

2304

1152
C

1152

D 576
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576

Correct Ans : A
Subject : MATH

Q.No: 16 Refer the table below and mark the correct option:

2703461
Speed of Light 3.00 » 10%ms!
Gravitational Constant | 6.67 * 101m’kgls?
Planks Constant 5.62 * 10 mkgs!
Avogadro Number 6.02 = 102

Note: Consider only quantity for the operation

e § 7S difereT < SR W8T fawed @ fafgd P

mﬁﬁ]’aﬁ 300 = 10%ms!
Gl HYUT TEURTH 6.67 x 10U m kg 152
;h;ﬁzﬂ'ﬂﬁ? 6.62 * 107 mkgs]
Fraramst JE 6502 =105

He: TR F oI Had A= R R S

Product of Speed of Light and Gravitational Constant is 21.02 = 101*

A
TeRTRI T 31T 3R TScaTRoT FEeRie &I A0TRe 21.02 * 1019 gl
Product of Planks Constant and Gravitational Constant is 43.1554 = 103
B
wofen e 3R IGcarehyoT [EeRTe &1 A0The 43.1554 * 1023 §
Product of Speed of Light and Avogadro number is 19 86 = 10%1
Cc
qehTer T ATt 3R TTaTIST WEAT &1 A0AE 19.86 * 105 §
Product of Avogadro number and Planks Constantis 398524 = 10-11
D

HTAINST HEAT 3R Celdhel Ui #1 IUAH 39.8524 x 10711 B

Correct Ans : D

Subject : MATH

Q.No: 17 A rope of length 74 m has been purchased to tie a giant swing. If 3/4th part of the rope is used to hang the swing, while
2703462 fom the remaining, 30% of the rope is used to tie it from a hook. Calculate the length of the rope left unused.
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TH 98 A B A & o1 74 ier awelt Y=l Wi 71 3 TR 1 3/4 URT A FI e & e faman S § Sefe 9 H § 30% &= B
IUGNT 9 §F | SieH & AT far Sidr §1 Siged Siet T8 IRT B aeTs B 0T BT

18.50m

A
18.50 Hiex
55.50m

B
55.50 Hiex
5.55m

C
5.55 Hiex
12.95m

D
12.95 Hiex

Correct Ans : D
Subject : MATH

Q.No: 18 A paper is folded to half of its size and the same process is repeated two more times. If area of paper after three folds is 3
2703463 sq.cm then the area of original paper is sg.cm.

TP P Bl ITP 38 MHR H ST ST & 3R T8 JAM Ufthadr & 9R 3R SIERrs el ¥l i i IR Wi & 91g SISl BT 8 3 T
e 2, ) aRafdsd BTl BT &thd if e g1

48

48

12

12
24

24

Correct Ans : D

Subject : MATH

Q.No: 19 Length of a paper is measured by a person to be 21.667 cm. Another person measures it again and finds that paper is bigger
2703475 than earlier measurement and he reports error of 0.923cm. If a bundle of 270 such papers were to be packed; then
combined length of the papers without error is estimated to be ?
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UF Al GRT TH ST B! @18 21.667 J AT STt 81 U 30 Afdd 3/ SIART ATUT & 3R U § {6 S, Ugd & A9 &t o & &1
8 3R 98 0.923 It BT Ffe Bt RUIE HRT B1 A 3 UHR & SHI & 270 F80 U A WA §; O o1 I & BTN &) Tgad @aTs o
BN BT 3 B

6099.3 cm

6099.3 A
7049.3 cm

7049.3 9#t
6059.3 cm

6059.3 I
5029.3 cm

5029.3 I
Correct Ans : A

Subject : MATH

Q.No: 20 A cube rests upon a cuboid and volume of cuboid is double the volume of cube. If cube is cut into half, its each piece volume
2703476 j|| be 1/4th of the cuboid volume. Then if again one of these pieces is cut into half, 2 cubes will be formed with each having
volume 2.5 cubic Units. Find the volume of the cuboid over which the original cube was placed.

& 99 TP T W EPT § SR 14 &1 SaaH, 99 & M1 1 QAT ¢ | G O B 31T PIC fadl S, df ITF TP s BT SHAcH,
I & A BT 1/4 RN TR IS 377 gavsl | ¥ (63l U 1 fUR 9 3imem Sl faan S, <t 2 o9 &1 odd, o8 @ IS &1 A 2.5
T 3PTS RN Y T BT ST 1 BITTE s SR T o @M 7T T

30 cubic Units

A

30 ¥4 §TS

20 cubic Units
B

20 99 3PS

10 cubic Units
c

10 99 SHTS

50 cubic Units
D

50 99 3PS

Correct Ans : B

Subject : MATH

Q.No: 21 Total marks obtained by students from different schools in a quiz competition is given below.
2703487
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When a student was asked to calculate the sum of marks obtained by 1, 3, 2 and 2 students in quiz competition from school
A, B, C and E respectively, then the result obtained by him was 'n'. What is the difference between 'n' and the average marks
obtained by students of school D?

(Note: Marks obtained by each student of a school is same.)

School | Number of students participated Total marks
in quiz competition obtained
A 24 864
B 36 702
C 18 720
D 146 1376
E 20 700

fFafaRad Uy &1 IR T51/998 UG [adhed &1 999 HIb G|
T G Ui v & srerr-ra wpal & fenfial grt ot oo eie i fow Tu B

e ge=Tleadt Iiaa e & ser A= T e .
~ ettt 1 wem 2
A 24 364
B 36 702
C 18 720
D 16 1376
E 20 700

9 & faendf & 76 A, B, C 3R E I U 1, 3, 2 3R 2 faenfiat gr1 usit ufaaifiian & urwie! & dhd &1 oM 64 & o Fgt
T, & 3P GRT U IR 'n' oTl, @ 'n' 3R Wpd D & fAanfial gRI ura ofid oic & offd &1 iR e 82

(e: TF Hd & IS faenlf gR1 urd s 99 §1)

166
A

166

148
B

148

172
C

172

150
D

150

Correct Ans : A
Subject : MATH

Q.No: 22 Some match boxes are arranged in a large carton box of 2 m3 volume. If the length, breadth, and height of each match box
2703491 4025 cm, 1.25 cm, and 0.8 cm, respectively, then how many match boxes are there in the carton?(Assume no space is left
vacant in the carton)
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Fo TR o fSfeal & 2 HeR3 s & U 98 &1 ¢ & o § sgafya fasan marn g1
e gl mife &) f3feal &t derg, Detg 3R s AR 2.5 Y, 1.25 A 3R 0.8 M B, A B A b Ay @t fefswmt 82
(W R BT ¢ T PSR el 7 541 7)

40000
A

40000

400000
B

400000

80000
C

80000

800000
D

800000

Correct Ans : D

Subject : MATH

.No: 23 . . . . Z
2703492 If consecutive prime numbers between 1 & 12 are taken and arranged in following mamner: =, 2 and

50 on. then find the sum of product of first and second term. product of third and fourth term. and so
on.

e 1 3R 12 & 1T Fr AR 37T HEHT i et f@d ade & fomam 3R csaafud fear
ST 2,2 3R 3| ol uEer R GH U & Ul e SR EeY 9 & Ioreel. Searte
T ATTHel AT hITTe?

47
55

47
55

35
77

35
77

23
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56
29

Correct Ans : B
Subject : MATH

Q.No: 24 A poker match is played between three players each having Rs. 20000. In first round they placed the bet for half the money

2703493 3nd 2 of them lost 15% of their respective share to 3rd player. In the 2nd round they placed the bet again for their remaining
money and now the player who won the last bet, lost with 40 % of his money and one more player lost 20% of his money to
the one who won. Find the biggest sum of money one has at the end of game.

e Gia B9 diF faenfedl & e @ ordr 2, SE Q ude & uE 20000 0 21 Ugd aR H S 1Y ¢9 & e i avrs ek SE 9 2
J 30 HEfd iR BT 15% iR RIars! &1 §R MU GOk SR & I6i S0+ W ¢ & g foiy ¥ gfa avmn $fR o9 ofa & gfa Site aren
TSt 3o 4RI BT 40% 3R T 3T fAaTS 3 YRR BT 20% S et B! & gR Ta11 Y, @ & 3id # frdt v & oy gad
TS YARIRT 1 BT

Rs. 31400

31400 YT
Rs. 35000

35000 34T
Rs. 41400

41400 YT
Rs. 21000

21000 394

Correct Ans : A
Subject : MATH

Q.No: 25 Choose the correct statement for the given data below:

2703494
[002 | 154 [o074 | 724537 [204] 139] 247 | 028 [ 6.35 |
19 fou U affest & fiw Il HYT &1 T DI
[002 [ 1354 [ 074 724|537 [ 204 139] 247 [ 028 | 635 |
4 numbers lie between 1.5 and 5.5

A

4T@IU 1.5 3R 5.5 d8

B 2 numbers lie between -1 and 1
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2@ -1 3R 1F &

5 numbers lie between 2 and 7

5@y 23R 7S I8

All of the given option

feu e Tt e

Correct Ans : A
Subject : MATH

Q.No: 26 Find the sum of those fractions given below, which gives an integer when simplified.

2703495
22 60 498 24 47 52 121
4’8’ 60"48"°47' 12" 11
= fw T 37 Al 1 ANTHS 19 B, S TReAIPd B R TP QUITe <d g
22 60 498 24 47 52 121
4’8’ 60'48°47' 12" 11
16

A
16
23

B
23
1

C
1
3

D
3

Correct Ans : A

Subject : MATH

Q.No: 27 In which of the following, lengths have been arranged in increasing order?
2703496

fofafaa & 3 fog fawe & @ar8 &1 RIS w0 § sgafeyd fasar man g2
46 mm, 50 dm, 520 cm, 4800 mm, 0.5 m
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46 ficfiviier, 50 SRfier, 520 AR, 4800 ficfier, 0.5 Hiex
50 cm, 400 dm, 500 cm, 4000 mm, 0.4 m

B
50 ddieR, 400 3fY Wiz, 500 e, 4000 fieihiies, 0.4 ez
0.04 m, 4800 mm, 500 cm, 520 cm, 5.4 m

(o
0.04 #Hiez, 4800 fadiiier, 500 ddhiiex, 520 IR, 5.4 Hex
46 mm, 0.05 m, 420 dm, 500 cm, 0.4 m

D

46 faefiviier, 0.05 Hiex, 420 SRR, 500 iR, 0.4 Hiex

Correct Ans : C

Subject : MATH

Q.No: 28 In a five-digit number, sum of digits at units place and thousands place is 13. Digit at hundreds place is 8 which is 2 more
2703497 than the digit at tens place. Digit at ten thousand place is half of digit at units place and one-fourth of digit at hundreds
place. What is the number?

Ui 3pl B Th GBI H, 3PS P VI 3R TR P VI a1 b BT GRS 13 B Jbal & M arell 3 8 7, S G818 & M arel 3 J 2
3P T T TR & VI aTell 3 IHTE b RIM aTel 3P BT 3T 3R Tbs & VM alal 3 & T AUTS ¢ Y, I8 B et grf?

29864
A

29864

69824
B

69824

24869
C

24869

64829
D

64829

Correct Ans : A
Subject : MATH

Q.No: 29 Total weight of all students in different classes in a school are given below.
2703499

Class | Number of students | Total weight (in kg)

VI 64 1600
VI 32 206
VIII 44 1320
X 20 680

X 24 012
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(Note: weight of all students in a class are equal.)

What is the sum of weight of 2, 5, 3, 4 and 1 students of classes VI, VII, VII, IX and X respectively?

% oo # fafta wensft & wft i enf¥fal &1 $a g i fean man 8

el | Faeafdat frEear | Fa o= (@A)
VI 64 1600
VI 12 206
VI 44 1320
X 20 680
X 24 012

(A : TP Fer 7 Tt fenfiat o1 ao= 99 B1)
P& VI, VII, VII, IX 3R X & HH: 2, 5, 3, 4 3R 1 faenlfat & a1 &1 ared o 82

478 kg
A

478 f&u

442 kg
B

442 fom

426 kg
C

426 four

454 kg
D

454 e

Correct Ans : D

Subject : MATH

Q.No: 30

2703501 The dimension of a floor is 80 m = 60 m_ Cost of putting tiles of dimension 5 m = 5 m,

where cost of 1 tile 1s Rs 20 is

U Hiotel i TaAT 80 HIex = 60 Hiet 81 T, 1 Toat T FiFd 20 Tud .
ar 5 #Hex = 5 FHre AT 6 erset ooy $ FrHEd fFa=r gren

Rs. 1920
A

1920 ¥9%

Rs. 3840
B

3840 ¥Ud

C Rs. 5760
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5760 IUY
Rs. 7680

7680 ¥W

Correct Ans : B

Subject : MATH

Q.No: 31
2703502

For the given shapes in the figure below, choose the incorrect option.

O QA==
OAOOBL\_:)M

I & T2 onmpfa A U MU SMHRY & Wy H TTed fddwed &1 99 Hifo|
] O NS ==

0 AL |0

Number of triangles in the image/jpg is four

i # fysl T F_T IR T

Number of quadrilaterals in the image/jpg is seven

Bf # agf #Y Ten ua €

Number of polygons in the image/jpg is fifteen

Bf3 & sgysl ot Yo usE 3

Number of shapes in the image/jpg having sides more than four is five

Bfa A IR | 4f¥rp Yot a1d STHRY P W= Uy §

Correct Ans : D

Subject : MATH

Q.No: 32
2703516

Evaluate: 47598 + 45789 - (5872 + 4559) - 45224 + 54103

47598 + 45789 - (5872 + 4559) - 45224 + 54103 BT eid HiTor |

91358

91358
91385

GET IT ON
Google Play



https://applink.adda247.com/d/XhqWf9lSap

Adda Eq 7 GET IT ON

Google Play

91385

91538
C

91538

91835
D

91835

Correct Ans : D

Subject : MATH

Q.No: 33 Number of rows in a classroom is 22. If the columns are just half of it, then the total number of seats in the classroom is
2703527 equal to:

TH FHe H el ot Wer 22 §1 afe Hiaw, 39F 31 o8 §, O F&l 31 el Bt ot BT fhads sRIeR g2

220
A

220

264
B

264

242
C

242

Cannot be determined
D

freffa 18 fpam s "oa
Correct Ans : C

Subject : MATH

Q.No: 34 If the difference of 2/3 and 8/5 is added to 4/5 of 7/9, then the number obtained is

2703528
afe 2/3 3R 8/5 F SR Bl 7/9 F 4/5 H Srs faan 9, df e T gri-
Negative Integer
A
HUTHS QUIH
Fraction
B
3

C Positive Integer
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YATHS QUITh

Zero

RISl

Correct Ans : B
Subject : MATH

Q.No: 35 If an angle equals two-thirds of its supplement, find the measurement of the angle.

2703529

TP BV 3T GRS & ¢ fAgT8 & sRIeR g, dl B0 BT AT T &

400
A

400

500
B

500

700
C

700

720
D

720

Correct Ans : D

Subject : MATH

Q.No: 36 How many decimeters in one meter?

2703530
1 Hier ® fram St fier g @2
0.01
A
0.01
10
B
10

C 100
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100

1000

1000
Correct Ans : B

Subject : MATH

Q.No: 37 Two numbers are in the ratio 2 : 3. If their LCM is 24. what is sum of the numbers?

2703531

& TSl T U 2 ¢ 3 B IS I A.9.T 24 1 o JBaft &7 AT J1d B2

28
A

28

20
B

20

64
C

64

72
D

72

Correct Ans : B

Subject : MATH

Q.No: 38 The cost of building a fence around a circular field is Rs. 8400 at the rate of Rs.14 per foot. What is the area of the circular
2704191 fjg|q (in square foot)?

T gOIBR A & IRI 3R T §18 S &I AN 14 3T Ui Be B X ¥ 8400 IYY 7| JIBR HGH &1 &%hd (I Pe H) T 82

24087.46
A

24087.46

23567.23
B

23567.23

43563.45
C

43563.45

D 28,636.36
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28,636.36

Correct Ans : D

Subject : MATH

Q.No: 39 The ratio of length to width of a rectangular park is 5:3. If the perimeter of the park is 640 meters, what is the area (in
2704192 square meter) of the park?

Th HAHR YT B dals AR AST8 HT U 5:3 §1 Al UIh &1 IRAM 640 Hiex 8, A1 Ui &1 &t (a7 Hiex ) fbar 82

26000
A

26000

24000
B

24000

45600
C

45600

56400
D

56400

Correct Ans : B

Subject : MATH

(22'7'\(‘;:;1‘;03 If the area of a circle 1z 616 em?. What 1s its circumference?

% TP Id BT &% 616 YHL T U Uik F|1 52

65 cm
A

65 It

78 cm
B

78 a+t

88 cm
C

88 at

D 84 cm
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84 9t

Correct Ans : C

Subject : MATH

Q.No: 41 A parkis 32 m long and 16 m wide. A carpet of 260 square meter area is laid on the floor. What is the area of the park (in
2704204 square meter) which is not carpeted?

TP U 32 Hiex Tal 3R 16 Hiex dieT 81 B= R 260 T Wex &0%hd &1 B S/ oI g1 Ul &7 &thd (av Hiex #) fra § o w
HTe g faar ma g2

260

260

250

250
252

252
286

286
Correct Ans : C

Subject : MATH

Q.No: 42 The length of a rectangular board is 2 times that of its breadth. If the area of the board is 288 square meters, what is its
2704205 length?

TP AIATHR SIS B! TS, ITH! ASTs B 2 A g1 A TS BT &hd 288 aif Her 8, dl STB! TiaTs fdha-l 82

8 m
A
8 e
4 m
B
4 Hiez
24 m
C
24 Hiex

D 13 m
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13 fiex

Correct Ans : C
Subject : MATH

(23'7'\:)‘: 2‘:)36 The length and breadth of a rectangular field are in the ratio of 4:3. If the area of the field 1s 2700

m?, what is the cost of fencing it at Rs. 20/m?

TH ATIATHR A S 6 R ASTS HT U 4:3 §1 TS ASH &1 &%d 2700 T Hiex §, & 39D! 20 T9 Ui Mex 3 R I 918
TE & AT T ERN 22

Rs. 5570

5570 3qY

Rs. 4200

4200 1
Rs. 3500

3500 ¥1
Rs. 3240

3240 39

Correct Ans : B
Subject : MATH

(22'7'\(‘)‘2 2‘:)47 The length and breadth of a rectangular park are in the ratio 7:4. A path 4 metre wide running all

around outside has an area of 416m?. What is the breadth of the park?

T ATIATHR T BT TS 3R TNSTS BT U 7:4 S| Th 4 TR ST Y o 3P 96X IRI 3R R U &, BT &% 416 I Hiex g1 Ui

@t AISTS fhat 82
16 m
A
16 Hiex
34m
B
34 #iex
48 m
C

48 Hiex
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12 m

12 fiew

Correct Ans : A
Subject : MATH

(22'7'\(‘;22‘;58 What is the sum of the length of the diagonals of a square with side 82 cm?

8v2 Tl Yol ardt ¥ @ [dsull & darg &1 g fba g

18 cm
A

18 It

16 cm
B

16 9+t

32cm
C

32 9

35cm
D

35 9t

Correct Ans : C

Subject : MATH

Q.No: 46 If the perimeter of a rhombus is 40 cm and one of its diagonals is 16 cm, then what is the area (in square cm) of the
2704214 hombus?

I T THagyS &1 uRATd 40 it § SR ITHT U fawf 16 It 8, df THagys &1 &wra (avf It o) . 82

96
A

96

90
B

90

85
C

85
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65

Correct Ans : A
Subject : MATH

(23-7'\:&24175 The length of two parallel sides of a trapezium are 30 cm and 40 cm_ If the area of the trapezium 1s
350 cm?, then what 1s the value of its height?

UF THCE B & GHFTR Yo #t dars 30 It o 40 3t 21 ofE IodE @1 &5 350
T B, o gt JrTs @ A E e?

6 cm

6 It

7 cm

7 9t

13 cm

13 I
10 cm

10 I

Correct Ans : D

Subject : MATH

Q.No: 48 If the height of a trapezium is half of the sum of the lengths of parallel sides which are 13 cm and 25 cm respectively, what is
2704216 the area (in square cm) of the trapezium?

I T THEd IS &) RIS, TR Yot B dETS & AT HT YT 7 S B 13 I R 25 I §, A gHens aqus &1 dFwa (T
it H) | R?

361

361
390

390
235

235
D 225
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225

Correct Ans : A
Subject : MATH

Q.No: 49 The diameter of a circle is 105 cm less than its circumference. What is the diameter of the circle?
2704217

T 1 BT N, 395 IR ¥ 105 It o4 B1 9 &1 o fpan 22

43 cm
A

43 9t

56 cm
B

56 T

32cm
Cc

32 9

49 cm
D

49 o+t

Correct Ans : D

Subject : MATH

Q.No: 50 The ratio of ages of two family member is 6 : 11 and the age of one of them is greater than the other by 35 years. The sum
2716820 f theijr ages in year is:

IRAR & & Tl BT 3T BT U 6:11 § AU S0 J TH BI 31 35 9 ¥ 34f¥eh g1 a9 T DT 3M1g BT AT 1 HR|

65 years
A

65 ad

102 years
B

102 a¥

119 years
C

119 a§

87 years
D

87 ad
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Correct Ans : C

Subject : MATH

Q.No: 51 At present, the ratio of the age of Ram and Shyam is 7 : 6 and 14 years from now, the ratio will get changed to 11 : 10.
2716821 Ram's present age is:

AT H, I SR T B R BT U 7: 6 7 AUT 3G F 14 ¥ 91, TG UK FEABR 11: 10 BY ST I B afHH 3R] J1d Hior|

24 years
A

24 4

24.5 years
B

24.5 94

26 years
Cc

26 q¢

28 years
D

28 99

Correct Ans : B

Subject : MATH

Q.No: 52 Find the age of younger one, if the ratio of age of brothers is 3 : 2 and one is older to the other by 5 years.
2716822

e & HIZTY B 3T BT U 3:2 § IUT Ugell gk ¥ 5 a¥ §87 7, dl SIS Y18 B1 3ATg F1d Biforg|

10 years
A

10 af

12 years
B

12 ad

14 years
C

14 oo

11 years
D

11 99

Correct Ans : A
Subject : MATH


https://applink.adda247.com/d/XhqWf9lSap

Adda Eq 7 GET IT ON

Google Play

Q.No: 53 The ratio of present ages of Vijay and Prashant is 8 : 9. The ratio of their ages before 6 years was 13 : 15. Find the ratio of
2716823 tpejr ages of 12 years from now.

fasta 3R T=Iid &) IAAM 3 BT U 8:9 1 6 T UGA IADB! TG HT UM 13:15 4TI 3F ¥ 12 T q1g IAD! Mg BT U J1d HR?

12:13
A

12:13

11:12
B

11:12

10: 11
Cc

10: 11

13:14
D

13:14

Correct Ans : B

Subject : MATH

Q.No: 54 The ratio of ages of Vikram and Manali is 2 : 3. After 12 years, this ratio becomes 11 : 15. The present age of Manali is
2716824

faspn IR TTClt B omg HT oruId 2: 3 ¥ 12 9¥ 91C, TS U 11: 15 B STl 81 HATGH Bt ada g fat 82

32 years
A

3299

44 years
B

44 ¢

48 years
C

48 af

60 years
D

60 T4

Correct Ans : C

Subject : MATH
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(22‘7'\::.%85353 Rahul's ageis 65_%% of Ramesh’s age. The ratio of their ages before 7 vears was 9 : 14. Find the
sum of their present ages.
RGP AT T BT A B 665% g1 7 T8 T8I 5108 TG FT AT 9:14 41| SAPI G0
3T 1 AR 1A |
85
A
85
175
B
175
105
Cc
105
115
D
115

Correct Ans : B
Subject : MATH

Q.No: 56 The ratio of the ages of Neha and Sneha 12 years ago was 1 : 4. The ratio of their ages three years hence will be 3 : 7. Then
2716834 the ratio of their present age is

12 99 Ugd AT 3R AET B ST HT UM 1: 4 UTI 3 ¥ I T & 91G AP G HT U 3: 7 TN O S4B GAHH 3G HT SFUTT T
gm?

3:4

4:9
Correct Ans : C

Subject : MATH
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Q.No: 57 Ram’s age is three times the age of Mohan. If after 3 years, he would be 2.5 times of Mohan’s age, then further after 3
2716835 years, how many times he would be of Mohan’s age?

W Bl 31g Higd B g B A TR 21 Al 3 9l wre, I B g We BV g Bl 2.5 T B, d 3T i anf a1, I B 31y g Bt
31y Bt fpa T gnfe

2.5 times

2.5 Tt

2.4 times

2.4 T

2.2 times

2.2 T

3 times

3T

Correct Ans : C

Subject : MATH

Q.No: 58 The ratio of ages of Mohan and Sohan is 3 : 4. Four years earlier the ratio was 5 : 7 . find their present ages.
2716836

HigT 3R TgT P 31 BT ST 3: 4 31 IR TG UG U 5:7 ATl ITD! I Mg 1 BRI
24 years, 32 years

A

24 99, 32 9§

26 years, 34 years
B

26 T, 34 T4

28 years, 36 years
C

28 T, 36 9§

22 years, 30 years
D

22 99, 30 9¥
Correct Ans : A
Subject : MATH
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Q.No: 59 Mother is four times the age of her son. If after 5 years, she would be three times of son’s age, then after 15 years, how
2716837 many times she would be of her son’s age?

AT B 3T SUP G BT 3G P IR T 21 A 5 a9 a1e, IYB 3 TF B 31 B i T &1, @ 15 Y a1, ITP! 341G G BT 31g )

faat T g

3 times
A

3T

11,

— times

5
B

11

5

4 times
C

4 T

5.

- fimes
D

5 E
Correct Ans : B

Subject : MATH

Q.No: 60 If 3 years ago the ratio between the ages of A and B was 6 : 7 and the sum of their ages at present is 58 years, what is the
2716839 (atio of their present ages?

I 3 95 A A 3R B B 3T HT UM 6: 7 4T 3R IdHH § IAD! Mg &I ANT 58 T §, A IAD! GaHM TG T 0T T §RT?

27 : 31
A

27 : 31

23:29
B

23:29

5:6
C

5:6

13:17
D

13:17

Correct Ans : A
Subject : MATH
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Q.No: 61 The ratio of the father's age to the son's age is 3:1 and the product of their ages is 147. The ratio of their ages after 5 years
2716843 || pe?

T $I 31 3R T B 31 HT 3T 3: 18 3R IAD! 3G BT [UHHS 147 81 5 99 & §1G ST 3 BT U a1 grm?

5:4
A

5:4

13:6
B

13:6

12:7
C

12:7

9:5
D

9:5

Correct Ans : B
Subject : MATH

(22‘7'\:1106:86424 The average of the ages of P, Q and R 3 vears hence from now would be 35 years. P's present age is
7

= of the sum of the present ages of Q and B. If the ratio of present ages of () and R.is 9: 8, respectively,
then whatis the difference between the present ages of P and R?

3d Y3 IV TG P, Q AR B A T A4 35 T4 RN P! IIHM 3, Q R R HI TciHH
A S A I F19(E Q 3R R P ITAM TG T 3T 9: 8 T 3R R Bl oiA Mg H

6
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Correct Ans : B

Subject : MATH

Q.No: 63 There are three members in a family mother, father and son. The average age of the three was 42 years on the day of their
2716845 g5n'g marriage. After 6 years of the marriage, the average age of the family will be 36 years when a grandson was born after
2 years of the marriage. Find the age of the daughter in law at the time of marriage.

T URGR H I Gewg AraT, fdr ok g €1 3% o Bt Al & fa T Bt 3fid omg 42 I ot wet & 6 o a1e, URaR @t Sfd
3G 36 a¥ it S1d et & 2 a¥ §1e U Uld &I o g3l 1| faaTg & 9y 9 &1 3 I R

26 years
A

26 q¢

27 years
B

27 a¢

28 years
Cc

28 g9

29 years
D

29 q¢

Correct Ans : A
Subject : MATH

Q.No: 64 The ratio of Asha’s age 4 years ago and Aisha’s age after 4 years is 1: 1. Presently, the ratio of their ages is 5: 3. Find the
2716846 atio between Asha’s age 4 years hence and Aisha’s age 4 years ago.

4 TS UE AT BT MY 3R 4 I F 91 YT B TG BT 3 1: 1 8, TITH H ITPT 31 BT 34U 5: 3 81 4 a9 a5 M1=M B 341G
3R 4 99 UG UM B 3ATY BT U 1T DI |

1:3

1:3
3:1

3:1

4:3

4:3
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3:4
Correct Ans : B

Subject : MATH

Q.No: 65 The ratio of present ages of Reshma and her mother is 9 : 2. The ratio of their ages four years ago was 8 : 1. What will be
2716847 the sum of their ages four years from now?

T 3R ITB! A B GAAM TG HT SUTT 9:2 §1 IR I8 UgA ID! 3G HT U 8:1 4T, 3F F IR qY qIg I 3G BT IR 71
Fiforu|

48

48
55

55
52

52
44

44

Correct Ans : C

Subject : MATH

Q.No: 66 10 years ago in Mishra's family there were 4 members. At that time the average age of 4 members of the family was 24
2716848 years. After this 2 new children were born in the family but the present average of all family members is still same. If the
difference of the ages of the children is 2 years. Then find the age of the younger child.

10 TS Uge s & uRaR & 4 Uew 91 39 W URAR & 4 Wawd! &1 3id o1g 24 a9 ot 39 a1g IRaR & 2 ¢ 5= U7 gu Afes
IRaR & Tt et &1 adum o ot off Ta B1 afe s Y org o1 iR 2 9 B1 A1 B o= Bl 1Y F1d pifor|

2yr
A
299
3yr
B
3 ad
2.5yr
C
2.5

D 3.5 yr
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3.5
Correct Ans : B

Subject : MATH

Q.No: 67 The present ages of Geeta and Sita are in the ratio 3: 4 respectively. The ages of Radha and Sita, 4 years hence would be in
2716849 the ratio of 5: 4 respectively. Mohan is 8 years elder to Radha. The average of present ages of Geeta, Sita, Radha and Mohan
is 28 years. Find Mohan’s present age.

Tfiar 3R T B AT IR FH: 3:4 F U T g1 T R i FT 31, 4 A 91G HAM: 5:4 F urd § grft| W, I ¥ 8 I a7
&1 i, didr, T 3R Higw B IdHH 3A1g BT 3T 28 TN g1 WEgd B adH{ 3 J1d DI

39 years
A

39 99

37 years
B

37 a9

41 years
C

41 ¢

36 years
D

36 ad

Correct Ans : A
Subject : MATH

Q.No: 68 Ratio of present age of A and B is 2:3. Find after how many years ratio of their ages will become 3:4? If we know that 5
2716850 years ago B is 20 years elder than A .

A 3R B &I a0 31 &7 3T 2:3 81 S §H o § fb 5 9 Ugd B, A ¥ 20 a¥f 587 8, af T1d SIfvTE & fbam oy a1 I} 3y &7
U 3:4 Bl STET?

10 years

10 9§

15 years

15 qf

20 years

20 g
D 25 years
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25 g
Correct Ans : C

Subject : MATH

Q.No: 69 Five years ago, Manjula was seven times as old as her son Tarun and five years hence, she will be three times of Tarun’s age.
2716855 Fing their present ages.

Ug 98 Ugd, Tl B Mg, Iqb GF q1 BT 31 ¥ A AT Sf¥eh off 3R uia aef a1, ITD! AT 07 B SH1G BT <A AT B S| D
I 31 J1d DI |

40 and 10 years

A

40 3R 10 a¥

20 and 36 years
B

20 3R 36 ad

15 and 35 years
Cc

15 3R 35 99

14 and 34 years
D

14 3R 34 79

Correct Ans : A
Subject : MATH

Q.No: 70 Three years ago Sachin’s age was 3 years more than 6 times his son’s age. Four years later his age will be ten years less
2716856 than four times his son’s age. Find their present ages.

07 oY gd ufed &t o1g, IS T D1 M & 6 T4 ¥ 3 a¥ i R IR a9 91 IS 31, IUF G $I 3G & IR T F a9 99 HY it
D! G 3G A Biford|

29 and 7 years

A

29 3k 7 ad

28 and 7 years
B

28 3R 7 o

29 and 8 years
Cc

29 3k 8 af

D 30 and 7 years
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30 3R 7 a9

Correct Ans : D

Subject : MATH

Q.No: 71 Monu is brother of Mona. Ratio of their ages is 3:2. Monu's father is 2 years elder than his mother. If Monu's age is 20% of
2716857 s father's age and average of his parents age is 44 years than find what is age of Mona?

A, HIFT BT UTS §1 ST 3R BT SUId 3:2 g1 A, & far oot o & 2 91 9 g1 afe AL 3 311g I a1 Bt 3ig &7 20% 7 3R I9F
AT-fIaT Bt oid og 44 I g, O HIFT B 31g 1 82

3 years
A

3 ad

6 years
B

6 I

9 years
Cc

9 Y

12 years
D

12 99

Correct Ans : B

Subject : MATH

Q.No: 72 Find the average of all the prime and composite numbers upto 100.

2716865
100 d% Tt SfUTT T g WRATSH BT SId F1d e |
51
A
51
50
B
50
49.5
C
49.5
50.5
D

50.5
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Correct Ans : A
Subject : MATH

Q.No: 73 The average weight of 12 mangoes is 18 kg. Addition of another new mango reduces the average weight by 500g. What is
2716866 the weight of the new mango?

12 3T BT 3N 9 18 5. 71, B1 T T 3 &) M & BRI, 3gd goi 500 U9 HH B STl 81 T3 319 &7 I J1d BX |

15.0 kg

A
15.0 ..
11.0 kg

B
11.0 fe.m.
11.5 kg

C
11.5 f.m.
10.1 kg

D
10.1 ..

Correct Ans : C

Subject : MATH

Q.No: 74 If the discriminant of a quadratic polynomial, D > 0, then the polynomial has:

2718956
gfe U fgurd sgue @1 fafdedex (discriminant), D > 0, dl Sgug | ©
two real and equal roots
A
3 arafa® 3R guH ga
two real and unequal roots
B
3 Al SR SR A
imaginary roots
C
BTeUP Hd
no roots
D
PIS 7 TE

Correct Ans : B
Subject : MATH
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Q.No: 75 By division algorithm of polynomials, p(x) =

2718957
Sguel & faueH wad fafd (division algorithm of polynomials) gRT, p(x) =
g(x) x alx) +r(x)
A
g(x) x alx) +r(x)
g(x) x a(x) - r(x)
B
g(x) x a(x) - r(x)
g(x) x q(x) x r(x)
C
g(x) = a(x) x r(x)
glx) +q(x) + r(x)
D

glx) + qlx) + r(x)

Correct Ans : A
Subject : MATH

8'7'\‘1%9168 The product of the zeroes of the cubic polynomial ax® + bx? + cx + d is:
THEITCT 9gUE ax® + bx? + cx + d & YT I Y0TAH ¢
-b/a
A
-b/a
c/a
B
c/a
-d/a
c
-d/a

D -c/a
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-c/a
Correct Ans : C

Subject : MATH

Q.No: 77 If the graph of a polynomial intersects the x-axis at two points, then it contains zeroes.
2718959

gfe; bt TgUS BT SR x-31ef B & figal W ufode drar g, A9 o g 7

Three
A

GIG

Two
B

a

Four
C

IR

More than three
D

T & arftres

Correct Ans : B
Subject : MATH

(22'7'\11(;97886 The value of 2x* + 7x + 5 at x= 2 is:
2xt+ Tx + 5 P x = 2 W HH g
51
A
51
46
B
46
48
c
48
54
D
54

Correct Ans : A
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Subject : MATH

Q.No: 79

1wl
2718087 X - ¥*1s a product of

xl-y:_ DIUHAmA %I

(x+y) (x+y)

A
(x+y) (x+y)
(x-y)(x+y)
B
(x-y)(x+y)
(x-y)(x-y)
C
(x-y)(x-y)
None of the given options
D

fau v fawedt & @ #I5 TE
Correct Ans : B
Subject : MATH

Q.No: 80 12
2718988 Which of the following is the value of (y -+ %) 2

Frafofea A wa (y +2) @ram e

y +=
-

A
v+
-
y: -

B
vy -

C
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y2 + =+ 2

yz

y* +yiz+ 2y

y* +yiz+ 2y

Correct Ans : C

Subject : MATH

(22'7'\11%98819 Which of the following is obtained by subtracting x?-y? + 3x — 4y from y? - x2 — 3x + 4y?

y2-x2—3x + 4y T x2-y2 + 3x — 4y UeH R Fofafaa o ¥ o1 e sidn g2

2y? - 2x? - 6x - 8y

A
2y? - 2x? - 6x - 8y
2y? +2x2 - 6x + 8y
B
2y? +2x2 — 6x + 8y
2y? — 2x2 - 6x + 8y
C
2y?—2x?—6x + 8y
2yt - 2x2 + 6x + 8y
D

2y? - 2x? + 6x + 8y

Correct Ans : C

Subject : MATH

.No: 82 L
27108990 What degree does x° - x?y? - 8y2+ 5 have?


https://applink.adda247.com/d/XhqWf9lSap

Adda247

x5 - x2y2 - 8y2+ 5 B °Td T g2

2
A

2

8
B

8

5
C

5

3
D

3

Correct Ans : C

Subject : MATH

Q.No: 83 What is the product of (y+a) and (y+b)?

2718991
(v+a) 3R (y+b) $T T0HGT F1 2
y*+ (a-b)y + ab
A
y*+ (a-b)y + ab
y* - (atb)y - ab
B
y* - (atb)y - ab
y? + (atb)y — ab
C
y!+ (atb)y —ab
y> + (atb)y + ab
D

y2+ (atb)y + ab

Correct Ans : D

Subject : MATH
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(22'7'\‘1(;08146 3x-x3+127isa polynomial.
x-xX*+ 127 wgme
Linear
A
Recin
Quadratic
B
fema
Cubic
C
g

None of the given options

fau 1T fawedl & § P T8
Correct Ans : C

Subject : MATH

Q.No: 85 6x + 11 -3xisa polynomial.
2719017
6x + 11 - 3x T SEUG B
Linear
A
Becin
Quadratic
B
fgama
Cubic
c
LEi

None of the given options

fau ¢ fawedl & Q@ #IS T8
Correct Ans : A
Subject : MATH

(22'7'\11%08168 The value of f(x) = 3x3—4x2%+ 8 when x = 3. 1s:
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f(x) =3x*4x*+ 8wmam=mx =3, %

62
A

62

53
B

53

52
C

52

48
D

48

Correct Ans : B

Subject : MATH

(22'7'\11%08179 The value of p(x) = 4+3x+3x? when x=0 is:
x=0 w p(x) = 4+3x+3x° wram &
2
A
2
1
B
1
a4
Cc
a4
0
D
0

Correct Ans : A
Subject : MATH

Q.No: 88

2716020 The zero of the polynomial f{x) = 9x + 21 1s:


https://applink.adda247.com/d/XhqWf9lSap
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e f(x) = 9x + 21 F IEF &

-3
A
-3
7
3
B
7
3
3
c
3
=7
3
D

Correct Ans : D

Subject : MATH

2'7’\‘1(;08291 What 1s the degree of the polynomial 367

FETE /36 = =T 741 2

0

|

W=

2

Correct Ans : A
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Subject : MATH

2'7'\‘;;0?0 What degree does x7 - x%y? - 8y*+ 13 have?

X7 - x2y? - 8y*+ 13 Fram 27

2
A

2

8
B

8

7
C

7

4
D

4

Correct Ans : C

Subject : MATH

Q.No: 91 What is the product of (y+ax) and (y-by )?
2719041

(y+ax) 3R (y+ax) &I OHGHT T 8?

(1-b) (y* + bxy)

A
(1-b) (y* + bxy)
(1 +b) (y? + axy)
B
(1 +b) (y? + axy)
(1-a)(y*+axy)
c

(1-a)(y® +axy)

D (1-b)(y? + axy)
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(1-b) (y* + axy)

Correct Ans : D
Subject : MATH

Q.No: 92

2719065 1Lhe volume of a cuboid with length, breadth and height as 6x, 2x? and 3x* respectively is:

TS T T G SrehT e, =ieTs 31T s HmE: 6x, 2x2 31 3x4 &

36x"
A

36x%7

36x2
B

36x?

36x4
C

36x*

36x
D

36x

Correct Ans : A
Subject : MATH

(22'7'\11%09935 If one root of the quuation x?+4x - p =0 is equal to 7, then find the product of the both
roots of the equation.
IfE THiER x2 + 4 - p = 0 1 U §e 7 o SR &, a1 GHIE o6 S Jel S G J6 h i1y
-77

A
-77
-14

B

-14
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14
C

14

77
D

77

Correct Ans : A
Subject : MATH

Q.No: 94 . . . . 2 4 4
2719125 Which of the following is a like term as Ex’y’?

ﬁHﬁrﬁﬁﬁﬁaﬁ?{mqﬂgﬂfﬁm‘s’%?

16

X3y

Correct Ans : D

Subject : MATH

SIS 16+ 2 =3 o Gud e e oty +
+_
%
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T Y+ﬁ =3. 80 y+ ~FTAA A1 P
+_

3
A

3

1
B

1

4
c

4
D

2

Correct Ans : D
Subject : MATH

Q.No: 96 — 2 T . —
27109127 Ifa+b+c=20and a?+ b? +c? = 142 then find the value of 3(ab + be + ca) =?

UG a+b+c=20 3R a+bl+c? =142 @l 3(ab + be + ca) BT HA J1d PIToT |

258
A

258

129
B

129

387
C

387

432
D

432

Correct Ans : C

Subject : MATH

Q.No: 97 The ratio of distance of centroid of a triangle from one of its vertices to the distance of the centroid from the side opposite to
2719235 that vertex is
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T AT & Bsd 31 39S T MY I g 3R 39 M & {udia 1o & S5 $1 g &7 U g @ -

1:1
A

1:1

1: 2
B

1: 2

2:1
C

2:1

3:1
D

3:1

Correct Ans : C

Subject : MATH

Q.No: 98 Arrange the following fractions in ascending order:
2719236

2/3, 5/9, 8/9, 4/3, 9/3

frofafiad fusl & oRig! 9 § saafyd $ifve:
2/3, 5/9,8/9, 4/3, 9/3
2/3,5/9,8/9,4/3,9/3

2/3,5/9,8/9,4/3,9/3
5/9,2/3,8/9,4/3,9/3

5/9,2/3,8/9,4/3,9/3
5/9,2/3,8/9,9/3,4/3

5/9,2/3,8/9,9/3,4/3
9/3,4/3,8/9,2/3,5/9

9/3,4/3,8/9,2/3,5/9
Correct Ans : B

Subject : MATH

Q.No: 99 1In a trapezium ABCD, AD || BC, diagonals AC and BD intersect at O. If AO = 3 cm, CO = (x - 3) cm, BO = (3x - 19) cm and
2719249 po = (x - 5) cm, then what is the value of 'x'?
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TP U ABCD H, AD || BC g 3R fd@uf AC 3iR BD, O W Ufdwse oxd &1 afg A0 = 3 IHl, CO = (x - 3) 341, BO = (3x - 19) It
3R DO = (x - 5) Yt &, & 'x' &1 A e 82

8
A
8
10
B
10
9
Cc
9
Both 8 and 9
D
8 3R 9 gl

Correct Ans : D

Subject : MATH

Q.No: 100 A mnning track is built around the border of the circular ground of diameter 24 meter.
2719250 [f the area of the munning track is 52n m?, then find the width of the running track?

24 HYeY ST del gl #Agre 1 TiAT & IRl R Ues Ielar ¢ afetra o &
afe Ieiar o &1 &%l 527 Hiex? &, at Wi & 1 is1S g Hifae?

1 meter
A

1 Hiex

2 meters
B

2 HieR

3 meters
C

3 iR

1.5 meters
D

1.5 Hiex

Correct Ans : B

Subject : MATH

Q.No: 101 A transverse (not perpendicular) line PQ cut two parallel line AB and CD at points L and M respectively, then which of the
2719251 following is TRUE?
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I /PLB + »+QMD = 1807
II: #ATP+ ~CML = 1807

TH YUY (Adad Tal)al X1 PQ, &l THMICR Y@ AB 3R CD &I HH: fig L 3R M W @red 8, df Fufifed & § oH-a1 99 82

I #/PLB + ~QMD = 1307
II: £ATP+ £CML = 180¢

Only II
A

Fad 11

Both I and II
B

I 3R 11 31

Only I
C

Fada 1

None I and II
D

IR II ¥ A ®E T8

Correct Ans : C

Subject : MATH

Q.No: 102 Half of a cylindrical vessel is filled with water and the other half is filled with oil. If height of the
2719262 ~vesselis 2 1cm and its total surface areais 1232cm? , what is the sum of values of height of water in it
and (r +12)? (r=radius and a=22/7)

Ueh eleTTehIY ciet T STEIT ST OTelt ¥ 83T & 3T T 19T el & 337 81 Afe acker f Fam8 21
AT & AR 38T T oA aTA6e 1232 FAP &, o FHHA =l & 3915 3R (0 +17) & A=Al H1
rareet fact=n &7 (=T3=ar 3R =22/7)

227/3
A

227/3

109/2
B

109/2

133/2
Cc

133/2

308/3
D

308/3
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Correct Ans : C

Subject : MATH

Q.No: 103 If 10800 =2%* 5°* 3° where a. b and c are natural numbers. then what is
2719263 {he value of (2a+3b+4c) ?

Ifg 10800 =22* 5P* 3¢ SET a, b 3 ¢ Wehd HEATT & . T (2a + 3b + 4c)
T AT fehcd= 7

22

22
26

26
24

24
28

28

Correct Ans : B

Subject : MATH

Q.No: 104 Sum of all sides (if length of each side is an integer) of a triangle is 16 cm. How many such different triangles are possible?
2719264

% By @t @t Yonsht &1 e (S UdE Yo 31 TETs Ud gUie §) 16 T 7, O T fFae i S (different triangles) Wy §?

3
A

3

4
B

4

5
(o

5

6
D

6

Correct Ans : C
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Subject : MATH

Q.No: 105 If 'n' is the least number which when divided by 6, 10, 16, 18 and 24 leaves a remainder 3 in each case, then what is the
2719265 product of digits of 'n'?

g 'n' 98 YEY B TEA €, B 6, 10, 16, 18 3R 24 I FIUINT 1 R 7S R T 3 AT Twa@1 8, @ 'n' & 3Ah! BT UHHS 1 §AMT?

30
A

30

45
B

45

42
C

42

48
D

48

Correct Ans : C

Subject : MATH

Q.No: 106 Ifp=-1,q=2 and r =-2. then what is the value of (p + 2+ qr-1%) - pqr + gir + plg? +13)7
2719266 ¢ 0 s (p+@)p? T ar-r)-par + g'r +p(q’ + )

qEp=-1.q=2 AR r=-28a (0 + Q)p? + ar- 1) - par + q’r + p(q? + 1*) T AT FT &7

-21
A

-21

-25
B

-25

-29
C

-29

- 27
D

- 27

Correct Ans : D

Subject : MATH
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Q.No: 107 A kite is made up of a Square and an equilateral triangle as shown in the
2719272  figwre. If BAis produced to G and CD is produced to H, then sum of 2BOC,
#HDE and #BAO s estmated to
be ?

U 99T U 991 37T Uk HAATE el 8 e 8. ST TE o H R g
ofe BAY G 3N CD¥ H¥e™T 5im &, af «BOC, ~HDE 3T ~BAOQ &7

7rar gIam|

285°
A

285"

360°
B

360°

2550
Cc

2550

340"
D

340"

Correct Ans : C
Subject : MATH

Q.No: 108 Evaluate and choose the correct option: (4 + (2/x)) + (5 + (7/x)) + (6 + (4/(3x)))
2719273
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(4 + (2/x) + (5 + (7/%)) + (6 + (4/(3x))) TATHA BT 3R T fadvey &1 Ta7 FIfoT:

At x=1/9, result is 108

A
x=1/9 W, RUTT 108 §
At x=1/3, resultis 108
B
x=1/3 W, Tfkumyg 108 §
At x=1/5, result is 120
C
x=1/5 W, GRUMH 120 &
At x=1/7, resultis 121
D

x=1/7 W, uf¥omq 121 §
Correct Ans : A
Subject : MATH

Q.No: 109 Ages of some students are given below in ascending order. If median of ages of students is 13, then calculate mean of their
2719274 ges,

4,5,7,11, 2k + 1, 3k, 20, 5k - 1, 25, 30

Fo il ot omg Fa oI w0 B §f 72 71 I faenfial &5t oy 1 A 13 ®, A IS S F WNH P TUAT S|

4,5,7,11, 2k + 1, 3k, 20, 5k - 1, 25, 30

15.2
A

15.2

14.8
B

14.8

13.6
C

13.6

16.4
D

16.4

Correct Ans : A
Subject : MATH
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Q.No: 110 If two cubes of side 8 cm each, are kept inside a cuboid having length and breadth both equal to 24cm and height 18cm,
2719275 then find the unoccupied volume in the cuboid.

g 8 I YT aTal &1 U HY U UAIH & 3feR W1 ST § oy daTs 3R AISTs HHR: 24 it 3R Sarg 18 I B, vy B el
ST Jd PifoTg |

6657 cubic cm

A
6657 U= Tl
9344 cubic cm
B
9344 o9
4868 cubic cm
c
4868 ¥« 9+t
3545 cubic cm
D

3545 9 It
Correct Ans : B

Subject : MATH

Q.No: 111 Ay equilateral riangle having side 2/4/3 em is comected to one side of a square which has same side
2719276 s that of the triangle  Ifthe triangle remains outside the square_ then find 3/4% of the total area they
malke (in cm?).

23 ST $SAT dTelT Ueh HHITG et ol adl bl Ueh 31T 8 STS1 & TSIl ofsil e &1 #1e1 &
A 1 AfE i a9 & @ ol 8. af 3% gan AT arawa (J#e ) &1 3/4 #1701
EAEY

(4 —/3)3

(4 —\/3)3

(4—/3)4

(4—+/3)4

(4 ++/3)3

4 +v3)3

D (4 +/3)4
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(4 +3)4

Correct Ans : D

Subject : MATH

Q.No: 112 If 'x' is the sum of twin prime between 120 and 140 and 'y' is the sum of twin prime between 140 and 160, then what is the
2719287 3jue of (3x - 2y)?

g 'x' 120 3R 140 & o9 JSal 3T &1 AT § 3R 'y’ 140 3R 160 & ofid JSai T BT AT &, ¥ (3x - 2y) BT A FT 82

204
A

204

228
B

228

216
C

216

234
D

234

Correct Ans : B

Subject : MATH

Q.No: 113 If (-3)[(-4)(-16)+24 x (-9) + (-6)(-3)] - 3n = (-7)(-2)+21 x (-9) + (-n)(36+18), then what is the value of 'n'?
2719288

T (-3)[(-4)(-16)+24 x (-9) + (-6)(-3)] - 3n = (-7)(-2)+21 x (-9) + (-n)(36+18) §, I 'n' &1 AN fHd g2

20
A

20

26
B

26

22
C

22

24
D

24
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Correct Ans : D

Subject : MATH

27'\21109218194 If 24948 = 22 x bl x 3° x 119 where a. ¢ and d are natural numbers and b is a prime number.
then what is the value of (2ab + 2bd - be - ad)?

af 24948 = 22 xblx 3°x 114¢ ETa. ¢ IR d wrepa T § 3R b v o7 wEar g at
(2ab + 2bd - be - ad) T AT FATE?

10
A

10

18
B

18

12
c

12

14
D

14

Correct Ans : C
Subject : MATH

Q.No: 115 ¢4 = 5 =3 and alc - ab(a?- b} + abc - c(a - b) + be =-6, then what is the value of 'c'?
2719290

aiga=-2.b=3 3T alc - ab(a?- b?) +abc - c(a-b) +bec=-6 &, Al 'c’ T A Tehd=T 57

-1
A

-1

1
B

1

-4
C

-4
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a4

Correct Ans : D

Subject : MATH

Q.No: 116 MRP of an ASUS laptop is Rs. 45000, and of HP laptop is 10% more than ASUS. A seller gives a Rs. 2999 bag on purchase of

2719303 poth the laptops and one mouse of Rs. 299 with each laptop, for free. If a person purchases 4 laptops, 2 of each brand and
got himself a flat discount of the amount on returning one bag and 2 mouse in the total bill, instead of taking those free
items, then how much he paid to the seller?

TH ASUS & TUCTT BT THIARUT 45000 $TF § 3R HP & AU BT Ted ASUS & AUeid &1 gaT & 10% 31fie §1 U fagear gl duera

B TRIE W 2999 I HT TH 37 3R TS AUST BT TG W 299 IUY &1 Th ASY Wi A a1 71 IS T AR 7 4 AUy, T S P

3 WdtedT § 3R S gud axgeil &1 a9 & 99T S8 TP 977 3IR 2 HISY I09 IR R $d f9at & 3% i Bt Tl ge U HRal 8, af S
faghar @ fosam YA foar?

Rs. 180903
A

180903 Ul

Rs. 185043
B

185043 A

Rs. 185403
C

185403 I

Rs. 189000
D

189000 Ul

Correct Ans : C

Subject : MATH

Q.No: 117 Find the value of the given expression below:

2719304
| |
J(ZDCE + J/(25¢*)) + J(Eﬁcz—  (49¢%))
1 fay T eI BT A 1 B
| |
\Jl(Zch + {(25¢*) + \I'(Sﬁcg— J(49c¢%))
16¢c
A
16¢c

B 22c
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22c

12c
Cc

12c

4c
D

4c

Correct Ans : C

Subject : MATH

S vsoy I£(729x 104) /(81 x 10°) =n X 10 then value of (n+1)-1 is estimated to be

e (729 x 10*2) /(81 X 1051y =n x 10= &, @ (n+1)>-1 Hagmﬁam?r%;

35
A

35

99
B

99

9
C

9

19
D

19

Correct Ans : B

Subject : MATH

QNo: 119 jfa B CandDare £ — x2 + y2. 2+ v2 — 22, x? — y2 — 22 and =2 + ¥ + 2 respectively, then

2719306 . e of (A+B)—(C +D)is equal to
AEA B CHRDFAN: 2— 2+ . L2 +vi— 2. 2 — V-2 3L+ P+ 28 a@a+B)
—(C+D) & HI=T &R BT
2yt +xE -2

A

2y +x2-2%)
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2y -x%)
B
2y -x%)
252 -2~ 2)
Cc
252 -5 2)
23 +xD)
D
20 + x5

Correct Ans : B
Subject : MATH

Q.No: 120 TfP + (1/P) gives 2 and P2+ (1/P)" also gives 2 (P & 0). then value of n is equal to

2719307
AT P+ (1/P). 2 &ar & F pe+ (1Pt 2 (P 2 0) &AT &. AT n &7 AT aXTa¥ I 2
2
A
2
26
B
26
99
Cc
99
All of the given option
D

feu T 9t faweu

Correct Ans : D

Subject : MATH

Q.No: 121 A parallelogram has a base 13.5 m and a height of 100 m .what is its area?
2722272

TH FHER I HT 3MYR 13.5 Hiex 3R FaAls 100 Hex §1 ST &A% 1 82

1025 m?

1025 HI


https://applink.adda247.com/d/XhqWf9lSap

Adda Eq 7 GET IT ON

Google Play

550 m?
B

5507

1350 m?
C

1350

2224 m?
D

R
2
22241

Correct Ans : C
Subject : MATH

Q.No: 122 A triangular shaped yard has a base of 25 m and a height of 12 m. What is its area?

2722273

TP BHINT AHR F 1S BT MYR 25 Hex 3R Ha1g 12 Hiex g1 3THT &hd 3T 82

125 m?
A

125

250 m?
B

250’

150 m?
C

150 HY’

225 m?
D

25T

Correct Ans : C

Subject : MATH

Q.No: 123 The trapezium has bases of 9 cm and 7cm and a height of 5cm. What is its area?
2722274

IS I HT 3MYR 9 It 3R 7 I 3R Sarg 5 I B | DT &Fd T 82
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125cm

2
125 TLt

50 cm?

40 cm?

2
25 TEt

Correct Ans : C

Subject : MATH

Q.No: 124 A large window has a length of 8 m and a width of 6 m. what is its area and perimeter?

2722275

% To) faSa! 3! dar 8 Hiex 3R ASTS 6 Hick 31 IHDT &b 3R TRHATT T 8?2

56 m?, 40m

s, 407t

40m?, 48m

4078’ 4 7ft

48 m?, 28m

2
48Hl 28 H

65m?, 28m

2
658, 28H!

Correct Ans : C
Subject : MATH
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Q.No: 125 If one side of a square shaped stop sign measures 12m, then what is its area and perimeter?

2722277
e TP FBR WY g BT Th Yol 3T A 12 H B, & 3BT &hd IR TR 1 82
144 m?2 40m

A
1247407
140 m2, 48m

B
1407 4 7ft
144 m?, 48m

c
1447, 237
65m2 28m

D
651, 28 T

Correct Ans : C

Subject : MATH

Q.No: 126 A trapezoid has bases of 7cm and 5cm and a height of 3 cm. What is its area?

2722278
TH GO G $T YR 7 T SR 5 T 7 SR a5 3 T 1 SUDT 870 1 52
12 cm?
A
2
1254
20 cm?
B
2
205t
18 cm?
c
2
18 Tt

D 25 em?
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25Tt
Correct Ans : C

Subject : MATH

(227'\‘202217297 A rectangular piece of paper has a width of 16cm and an area of 192 cm?. What is its length?

T & U AR FS T TE 16 T 3R 55 192 U 31 Soal deE a2

15cm
A

15 9t

12 cm
B

12 9+t

25 cm
Cc

25 97t

5cm
D

5 J+t

Correct Ans : B

Subject : MATH

Q.No: 128 A square garden hasa side of 22m. Find the cost of fencing it at 2 rs/m_ Also find the cost of
2722280 putting turf on garden at 20 Rs./m?.

T T e o = 22 ) gweht g we o w2 v/ 3w it i o w6 e o 20
wr/He O 3w Fifm)

Rs.150, Rs.1250

A
150 ¥4d, 1250 I
Rs.176, Rs. 9680

B
176 ¥Ud, 9680 ¥UA
Rs.9680, Rs.176

C

9680 ¥Uq, 176 UL
D Rs.6980, Rs.188
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6980 IUJ, 188 TUY

Correct Ans : B

Subject : MATH

Q.No: 129 The cost of fencing a circular field at the rate of Rs. 25 per meter is Rs. 550. Find the diameter of the field.
2722285

25 373 i Hiex 31 R J T TMeNPR A B 918 T B! AN 550 IUY &1 HGH BT O F1d DI |

14 m
A

14

7m
B

7 @t

21 m
C

21

49 m
D

49 wt

Correct Ans : B

Subject : MATH

Q.No: 130 Find the perimeter of a triangle having sides of lengths 5.5cm, 6cm and 6.5cm.

2722286

5.5 41, 6 I 3R 6.5 it @S aret A 1 uRAT 1T BT

14 cm
A

14 I

18 cm
B

18 It

21 cm
C

21 9

19 cm
D

19 9+t

Correct Ans : B
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Subject : MATH

Q.No: 131 A wire is bent into the form of square of side 27.5 cm. It is straightened and then bent into the shape of circle. What is the
2722287 radius of the circle so formed?

TH dR HI 27.5 I Y a1d o & ATHR T AT 71 g1 59 Aterr 3o orar 3 3R fOR g0 & R & WS faar ST 81 39 UaR o9 91 3
Brar & 82

14 cm

14 I

17.5cm

17.5 9

21.5cm

21.5 9

19 cm

19 It

Correct Ans : B

Subject : MATH

Q.No: 132 A rhombus having each side of length 6.3 cm. find the perimeter?

2722288
T FHEgHs Rt ude Yo 6.3 9t ®, aRdm w1 Hifm
25.2 cm
A
25.2 9
17.5 cm
B
17.5 9+t
21.5cm
C
21.5 9
20 cm
D
20 &

Correct Ans : A
Subject : MATH
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Q.No: 133 A triangle ABC having sides of lengths, AB = 7cm, BC = 5cm, AC = 12 cm. Find its the perimeter.
2722289

ys ABC et Y=t €, AB = 7 ¥, BC = 5 ¥, AC = 12 It 1 39! ufkemy 71d Sifom|

25 cm
A

25 &t

17 cm
B

17 I

15cm
C

15 9t

24 cm
D

24 T

Correct Ans : D

Subject : MATH

Q.No: 134 According to the types of co-operation are two.
2473683
..................... F FIUR Tga & &l UHR gl
Reuter & Hart
A
TYeR TUS §1E
Maclver and Page
B
AP TUS U
A W Green
Cc
T s
V V Akolkar
D
§ 4t st

Correct Ans : B

Subject : Pedagogy

Q.No: 135 Match and choose the major changes of language development
2476718
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Column 1 Column 2

i. 12 weeks a. cooling sounds —varied and sustained

1. 16 weeks b. markedly less crying similes squalls and gurgles when talked to sustains
cooing for 15- 20 seconds

iii. 20 weeks c. cooing changes to balloting. one syllable sounds with fixed

iv. 6 months d. tumns head and eves in response when spoken, makes chuckling sounds

v. 24 months e. language is well established, deviations from adult norm tend to be more
in style than in grammer

vi. 4 years f. vocabulary of more than 50 items, can name objects around him, begins to
form 2 word phrases. more communicative and shows interest in language

U & e & 98 Ieamal &1 i 3 3R 36T T

FAA 1 FAT 2

.12 WA a. Foar w33 - AT sk e

ii.16 HTaTE b. 7% ¥ ¥ &7 e Ak 0w (vETw s wiew) w15 & 20
¥FE & BT FET B I @ F B aw & e @

iii.20 AYAE c. TFN FATET A Tgw T &, vH Frifew FTERor & W

iv.6 FERT d. % aF Fwar § @ a7 FEw A Foew R R o gEer ¢ sk
HEETE g Frawr war #

v.24 FEWT e 9T =l OYF & TS § 99t AWest ¥ Tuwer deh & st
1 g # Ffts ¢

vi.4 AT f. 50 ¥ ftre avgal &1 wegaell, AU HTW-TW & TEGA! B AR &
EHS § 2 Mg T AT YR S ¢ A0 FEageAs § I wmw #
T &

i-a, ii-c, iii-e, iv-f, v-d, vi-b

i-a, ii-c, iii-e, iv-f, v-d, vi-b

i-b, ii-d, iii-a, iv-c, v-f, vi-e

i-b, ii-d, iii-a, iv-c, v-f, vi-e

i-c, ii-e, iii-a, iv-b, v-f, vi-d

i-c, ii-e, iii-a, iv-b, v-f, vi-d

i-a, ii-b, iii-¢, iv-d, v-f, vi-e

i-a, ii-b, iii-c, iv-d, v-f, vi-e

Correct Ans : B

Subject : Pedagogy

Q.No: 136 Which of the following is not a component of cognition?

2477557

Memory

fRafafad #§ ¥ SH-91 I3 &1 Uch 6 82

GET IT ON
Google Play
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wfa

Reasoning

fr=

Feeling

HIG-T

Evaluation

qedie
Correct Ans : C

Subject : Pedagogy

Q.No: 137 Which of the following are possible reasons for a child to join a delinquent gang?

2477750
1. It gives the child a unique identity.
2. Normally all children love violence happening in real life.
3. Sometimes joining a gang gives the disadvantaged youth possibilities of economic and social advancement.
Choose the correct code -
TP = & AR clferdt (Sfeide ) & wft R & Fafafed  § eF 9 gwifad sRo §?
1. S99 g 1 Ueb 3o UgE fHerdl &1
2. 3 AR R Ot 5= aRdfass Stae & g areft e &1 udig avd B
3. F-o2ft T orcft & =nfia 8 9, dfad garsht &1 siffe iR Imfore Jaf &t HwvreAg e B
SHETEE
Only 1 and 2
A
Fad 1 3R 2
Only 2 and 3
B
Faa 2 3R 3
Only 1 and 3
C
Faa 1 3R 3
1,2and 3
D
1,2 3R 3

Correct Ans : C

Subject : Pedagogy
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Q.No: 138 Which of the following statement does not supports the justification of Heredity?

2478879
fofafad & S $F 91 By gafiedr & i &1 THd T8 T 22
It is common everyday observation that the children of bright and intelligent parents tend to grow bright &
intelligent.
A
g I e Sradie § fh Swaa ok gfSwm arar-Rar & 92 Swaa ok gfgum 819 7
It is common everyday observation that the children of low IQ parents tend to have low IQ.
B
g 3 914 ¢ fF o0 g afsr ara arar-far & s=t «1 9fS afsw s9 gar 31
Various studies revealed that about 80% of feeble mindedness is inherited.
C
fafirar srema=t & van aan 3 f5 @Rt 809% FHEIR fGwmT favraa # fren 1
There has been a steady increase in students’ average performance on the class test in the last few decades.
D

frod 7o ol § Fan udien & o & id wex # TR 9fS 88 71
Correct Ans : C

Subject : Pedagogy

Q.No: 139 Socialisation is a process which converts a living organism into which of the following?

2479039
THSTHRU T T Ufshal g S U Siifad sfta &1 Fafefed # 9 fead ufafda st 82
Religious being
A
Tt wroft
Social being
B
HrATfoTe wToft
Spiritual being
C
remfare yroft
Political being
D

Ierifae yroft

Correct Ans : B

Subject : Pedagogy

Q.No: 140 Who among the following started the wave of naturalism and romanticism in education?
2479461
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fafafaa ® 9 feam fen & upfaare (F=gRifes) S8R wHHgd (ifeRem) 31 dex & 312

John Dewey

A
S fsdt
Jean Jacques Rousseau
B
S - ST w4t
Sri Aurobindo
Cc
ot sRfear
Jean Piaget
D

S e

Correct Ans : B

Subject : Pedagogy

Q.No: 141 Which of the following is correct regarding Dewey’s theory of curriculum?

2479594
fedt & urem=al ¥ Rigia & gdy § Profifed ¥ 4 319 @1 9 22
Dewey emphasized more on theoretical ideas.
A
&t 7 Sz~ et wR st s@ e
Teacher’s interest on subject should be included in the curriculum.
B
fawg wR g o1 v @) ureaswsw A ide fear s Al
Curriculum should prepare children for increasing memorization power and master any one skill.
C
uTeTTdt B gl P TR AR geM F RIT TR Fe1 TRT iR el v Piwrer A weRa g1iia 3= anfeul
Curriculum should prepare children for real life experience.
D

yreuat $I g5l ®) aRAfd® Siad & JUT F T duR Hn =@l
Correct Ans : D

Subject : Pedagogy

Q.No: 142 Which of the following is least likely to have concrete intelligence?
2479665

Frafefed o 3 fbud o gurigel i 89 @1 999 $H JuTa 82

A Engineer
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gl

Architect

ARGPR
Philosopher

FRIECD

Accountant

AWPR

Correct Ans : C

Subject : Pedagogy

Q.No: 143 A child's behaviour is not appropriate in class because he/she is neglected at home. Which of the following ecological
2480331 systems of the child is influencing his/her behaviour?

UF 5= &1 FagR BT H IUYH el & e R & ITD! JU&T 3T 91kt 81 9= 3t Fuffad § I oH-f nifufas gomdt 396 aagr &
gUIId HR I 82

Microsystem

A

qgHS A

Mesosystem
B

qEHSA

Exosystem
C

UG ER]

Macrosystem
D

qgadsd

Correct Ans : B

Subject : Pedagogy

Q.No: 144 International Olympic Committee is a not-for-profit independent international organisation based in
2650223

SR 3icifie Ty T fUfd T TR-THBR) T SR W6 71

Vienna, Austria

foar, sifeear
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Lisbon, Portugal

B

forem, geima

Milan, Italy
®

foram, geoft

Lausanne, Switzerland
D

dtoH, Raeords
Correct Ans : D

Subject : Gen. Gnowledge &Current Affa.

Q.No: 145 Rowlatt Act was passed by the British government in which year?

2650246

3cie T fry o fafew TR gr1 uiika fasar mam ure

1919
A

1919

1921
B

1921

1915
C

1915

1930
D

1930

Correct Ans : A
Subject : Gen. Gnowledge &Current Affa.

Q.No: 146 Who was the first Women Governor of Madhya Pradesh?

2651064
A YR BT Ugal Aigen Isaurd HH At
Smt Uma Bharti
A
At IHT HRA
Smt Nirmala butch
B

st foefen g
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Smt Sarla Grewal

el g Jara

Smt Urmila singh

st Sfifen Riz

Correct Ans : C

Subject : Gen. Gnowledge &Current Affa.

Q.No: 147 Abdul Kadar Khatri was a famous

2651499
3G PIR Tl TP URTS Rf
Painter
A
[EECAN
Craftman
B
Rreger
Singer
Cc
RlICa
Dancer
D
Td®

Correct Ans : B

Subject : Gen. Gnowledge &Current Affa.

Q.No: 148 Find the related word from the given alternatives.
2653621

Bird : Fly

fau U fawedt & & Tefta wsg gal

[EIERIER]
Air : Kite
gar : IaT

Baby : Cry
= : AT

Tree : Leaves

¢ ¥ : wRmai
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Encroachment : Occupy

D Sifaspyor : HeaT
Correct Ans : B

Subject : Gen. Reasoning (Numerical Abi.

Q.No: 149 How many smaller pieces are obtained by making two cuts in X plane, four cuts in Y plane and three cuts in Z plane on the
2653703 same cube?

WHFRXITTH A B, Y Id § IR Be 3R Z dd § I & a F fpaa 31 s U 8id 872

24
A

24

60
B

60

a8
C

a8

120
D

120

Correct Ans : B

Subject : Gen. Reasoning (Numerical Abi.

Q.No: 150 P is the brother of Q. R is the son of S. T is the daughter of P, is married to U. V and S are sisters to one another. Then how
2653751 s related to R?

PQBHTUEEIR, SHTAGIT, PH T T, U T Aalea 81 VIR S Th g P g8 &1 a1 V, R ¥ ford TR Taifdrd 82

Sister
A

ded

Aunt
B

ARt

Mother
C

i

Mother -in-law
D
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Correct Ans : B

Subject : Gen. Reasoning (Numerical Abi.
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